Opérations avec deux fractions mixtes (G)

Nom: Date: Note:

Calculez chaque résultat.

1 53‘51—— — = X = = —
19 " 73 B B B
3 8
2 51—41—6————— - = = — =
3 54+12 = + = + = - — =
5 710 B - N N
1 5
—_ ]l = — = — = X = = — =
“oo3vly
2 6
5 5§—4E————— X - - — -
2 8
——4—:———: —_ = = —_—
° 55740
7 5——1— = —-— = _ = = —_— =
2 2
8 lﬁxsg——x—— — = — = —
1 6
5— 2— = -_— _— = = = B — =
9. 53 +23 + +
10 51+11—0——+—— + = - =
T2 12 B - - -
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Opérations avec deux fractions mixtes (G) Réponses

Nom:

10.

Date:

Calculez chaque résultat.

52 +50 = =0
52 +4m = oo
Se-13 = > -3
s3+25 = 2+

100 3
19 T 16
92 72
16 16
58 N 12
10 10
16 17
3 722
42 12
8 7 54
54 48
10 10
31_9
6 6
752
126
4 24
9
66 22
12 12

300
304

20

16

70

88
12

75
76

A

ol RN

136

33

(@ N IEN|

wn| W

Note:
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